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MHF4U - Practice Quiz on 2.5 2.6

1. Which one of the following functions is divisible by x — 3?2 = { duviser 5 3

(a) fix)=x-10x" +29x - 24 c. h(x)=3x"-6x"+3x+9
b. g(x)=x"—-4x?-13x+24 d jex)=x*-9%"+15¢-12
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2. Which one of the following functions is divisible by x + 12 <~ F = 7~ B

a. ﬂx)=x3—2vcz+x—3 c. hx)=x"-x"-2¢"+8&"-6x
b. g(x)=x"-3x+1 jx)=x"+x* =27 +4x7 + 6x
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3. Which one of the following is not a factor of f{x) = —6x’ —47x" — 97x — 60?
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4. What is the remainder when x — 4 is divided into 3x* = 9x® + 6x” =8¢ + 11?
1483 T 4 Qe & 11
@ 267 521-.3. d. -245
LET [(0-35"- 92000 3t (comainder Hlesen)
/7 VLQ & 3 =
if gou use Q(Ar) - 3@ 9@~ L4) T -8) +

Q—Z E'J\_C\,U TL‘QO(M\ = 2_(0
of H:\J\E,C Ccc,’&)r ﬂ/\eo"aw\/ }

et » [+ (L = Jon't heve ane) |



3. e polynomial —6x* —55x? + kx — 16 has factors x + 8 and 3x + 2. Determine the value of k.
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6. Write the expression 27x* — 1 in factored fornn.

a. Gr+1)Bx=1) N3, e Gx+1)OxF=3x+1)

b, (9x—1)8lx2+%+1) <) (Bx=1)(9x? +3x + 1)

7. Write the expression x’y® +216z° in factored form.
(x*y +62)(x®y? — 6’ yz + 362°%) c. (y+62)(x*y? +6x’yz +36z%)
(x*y —62)(x°y* + 6x°yz +3627) d @y+6z)(x’y—62)
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8. The factor theorem says that x — a is a factor of f{x) if and only if what is true?
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9. The remainder theorem says that when a polynomial, f(x), is divided by x — «, the remainder is equal to what?
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10. State the remainder when x — 5 is divided into the polynomial 3x* — 8x* + 6x — 10.
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11. Factor the polynomial —2x* + 12x* + & — 48 using the factor theorem.
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12. Factor the polynomial x* + 6x” = 19x — 24 using the factor theorem.
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13. Sketch f{x) =x* —2x —13x” + 38x — 24 by finding all zeros of f(x). \h | Rt Quaka
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14. The polynomial —6x” +50x +ax + 24 has factors x — 1 and 2x + 1. Determine the value of a.
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15. Factor x’y°® +8z°.
= ( DLL"L+ '29_)(134’ — 2.1722 + 4’2-1)
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16. Factor 64x ~ 57

"\ayp?) §W6~3 ‘~



